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QUESTION 1

During an equipment move a Fibre Channel cable from a host to a switch is accidentally plugged into a different switch
port on the FC switch. However, the host still sees the storage devices on all its paths. What are two reasons why this is
possible? (Choose two.) 

A. LUN masking uses switch port numbers and not WWPNs. 

B. The host HBA WWPN is a part of a WWPN zoning scheme. 

C. The Fibre Channel address for the HBA has not changed. 

D. The WWPN Alias was n changed on the NetApp Controllers. 

Correct Answer: BD 

 

QUESTION 2

Which statement is true about NFS exports in Cluster-Mode? 

A. Export policies are created and modified by editing /etc/exports. 

B. Exports can be either persistent or temporary. 

C. Export policies and rules are stored in the RDB. 

D. Both A and B 

E. Both B and C 

Correct Answer: C 

 

QUESTION 3

Which three storage features can be scaled by storage administrators? (Choose three.) 

A. capacity scaling, by allowing more than two storage systems to be combined with larger disk shelves 

B. energy scaling, by allowing the cluster to share the same power source 

C. heterogeneous scaling, by allowing E-Series and FAS-Series systems within a single cluster 

D. network scaling, by providing three or more network switches for the cluster network 

E. operational scaling, by allowing the entire cluster to be administrated through a single resilient interface 

F. performance scaling, by using Flash Cache, SSDs, and Quality of Service 

Correct Answer: AEF 
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QUESTION 4

Which four steps must an administrator take before establishing a CIFS share? (Choose four.) 

A. create a volume 

B. configure a share policy with the desired values 

C. configure an export policy 

D. configure name mapping 

E. enable Active Directory routing 

F. mount a volume within the Vserver namespace 

G. set a default share policy 

Correct Answer: ACDF 

 

QUESTION 5

Which statement is NOT true regarding NetApp Snapshots of VMware ESX datastores? 

A. A NetApp Snapshot captures the entire FlexVol including information NOT associated with VMDKs. 

B. For VMDKs on VMFS datastores, to restore a specific VMDK requires a copy from the NetApp Snapshot to the
datastore. 

C. NetApp Snapshots can be employed to backup VMFS, NFS, or RDM datastores. 

D. NetApp Snapshots are instantaneous, so they always produce an application consistent image 

Correct Answer: D 
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